11.55& (BAZ0) (2)

HEEFE 2
BXBEARY BHmRFSETFI—X




Nk

55 1[d]
55 2 [d]
55 3 [d]
55 4 [d]
55 5[]
55 6 [d]
55 7 [d]
55 8 0]
559l
%1 0[5
%1 1[5
%1 2[g

1 3]
%140

15[

= DIEPX,

10H 3H : Z51[o] fnd & 5IEBA
108108 : 5820l EEDOER. £FiES. FEiLs
108178 : 283[0] fpasmiE
108248 : 584[0] ikEE:HIE
10A 318 : 55500 hEE S
1MA 78 : Folb Bl EEES
118148 : &7[0] ¥R4 IREERHE (1)
1182808 : &58[0] £k 4 IXEEEHE (2)
128 58 : $9[0] #R 4 7REEIE  (BRNTERE SFENE

128128 : 2510[2] B4k (B3%%) (1)

128198 : H11E S54& (B82) (2)

128268 : 5126l B EREER « ZIBRAR. BEMRITSI.

I35 TICKDERIR
1A16H : 513[0] [EMER%
1H238 : 5514000 IEFEHR @ FIRFES.

I\, 2lEFES. LRETFR
1H30H : 5815[0] BAZREHER




1. XHDBAR

BREJRER
CILE T
SROEM
W EAR

/@@CN)@\




B BUTEEDXDIIREL
N ?




BE LUFNIEDOLDREE
N ?

B & (B%0)
CER I B&R

B BE&




B BUTEEDXDIIREL
N ?




BE LUFNIEDOLDREE
N ?

FHic
B{&CER
B {%




B LDUTEEDOKIDREHN?




BE LUFNIEDOLDIREHFHEN?

FHH(c 2HELIF cEBEAHCS
BigcaEbnE&




1. BREREZ

Def 1.

f:UeV; f(x)ICDUNC

y = f(x) € VZ&Ex € UDE,
x € Uy e VD[RR EWDS,




1. BREREFZ

Bz a8 nES (CHLGE

U V;f(x)ICDWNWT SMD&EFACU, BC
5. VDEZRDDE, ADEBEZRDfICKBIEIC
NWDEDZESDHT. BERFICKDESTADEKREL
B=fA)EEL

@




1. BRERE

g&?ﬂg (:E% JCJ:5 o
ANEEcihZFHND &
Def 2.

B&kf:U-V;f(x), ASU,BcVIC
DULT

ZADBREWD,




1. BRERE

WNENICTERLULD,
NSz FAND &
Def 2.
B&f:U-V;f(x), ASU,BcVIC
DL\

B = f(A) ={y|3x € A[f (x) = y]}
ZADREND,




1. BRERE

HENICEERELLD,
E50EDORNBNEEIRZHWND &
Def 2.

B&f:U-V;f(x), ASU,BcVIC
DT

ZADBREWLD,




1. BRERE

WNENICTERLULD,
550 EDORBHEENZHND &
Def 2.
B&kf:U-V;f(x), ASU,BcVIC
DUL\T

B =f(A) ={f(x)|x € A}
ZZADFREWND,




Bl 1 .

SE&f:U - V; f (x) Df DAEEZ5R
RWTCRE




Bl 1 .

BERf:U - V; f(x) DfDfEigZ 5
== LA W@ N C8

Ve
TR

ran(f) = f(U)




Bt 2 .

BRf:U - V; f(x) [CDWTFIFU
MBSV AN\DEF THDEZTDUNE
DEAFE

F(U) =2227




g 2 .

BRf:U - V; f(x) [CDWTFIFU
MBSV AN\DEF THDEZTDUNE
DEAFE

Ve
T

f)=v




{528 3
U=1{1,2,345},f:Uw U; f(x) [CDL
f()=2,f(2)=2,f3) =5,
f(4) =5/F(5)=1&93,
CDETE,
(1) fOfBIZKED K.
(2) {1,2,3 YDBF[(1,2,3)123KED K

(3) {1,3,5 YDBF[(1,3,5) 23 KD K,




{528 3
U=1{1,2,345},f:Uw U; f(x) [CDL
f()=2,f(2)=2,f3) =5,
f(4) =5/F(5)=1&93,
CDETE,
(1)  fOlEEZROKL, {1,2,5}
(2) {1,2,3 YD8Bf[(1,2,3)23KED K

(3) {1,3,5 YDBF[(1,3,5) 23 KD K,




{528 3

U=1{1,234,5},f:U e U;f(x) DL
f(L=2,f2)=2,f3) =5,

f4)=57Ff05)=1&935,

CDEE,

(1) folEEVERSO K.  {1,2,5}

(2) {1,2,3 YD8Bf[(1,2,3)23KED K
{2,5}

(3) {1,3,5 YDBF[(1,3,5) 23 KD K,




{528 3
U=1{1,2,345},f:Uw U; f(x) [CDL
f()=2,f(2)=2,f3) =5,
f(4) =5/F(5)=1&93,
CDETE,
(1)  fOlEEZROKL, {1,2,5}
(2) %1,2,3 YDERF[(1,2,3) ]2 KD K.
{2,5

(3) {1,3,5 YDBF[(1,3,5) 23 KD K,
{1,2,5}




2. PR

BRf:U - V; f(x) [CDULT

UDBZDDEFICKDMENBICET S
REZEDHTCTESTDIEESZ, BIERfICLD
B EWN, 1B EEL,

@




2. PR

Def 3
BE&f:U - V; f(x) [CDULT,

UTOESF1(B)ZBHRf(CKD
B & K5\

f71(B) = {x|f(x) € B} .




s 1

U =1{1,2,3,45), f:U = U; f(x) [CDL
f()=2,f(2)=2,f3)=5,f(4) =
5,f(5) =1

9D,

_DOEE,

1) {1JOFERf1nZEKRSO K,

2) {2,500 BRf L2577 3KED K,



s 1

U =1{1,2,3,45), f:U = U; f(x) [CDL
f()=2,f(2)=2,f3)=5,f(4) =
5,f(5) =1

9D,

_DOEE,

(1) {13DOFERS T y1ERSO K, {5}

2) {2,500 BRf L2577 3KED K,



s 1

U =1{1,2,3,45), f:U = U; f(x) [CDL
f()=2,f(2)=2,f3)=5,f(4) =
5,f(5) =1

9D,

_DOEE,

(1) {13DOFERS T y1ERSO K, {5}

2)  {2,5}DFEBRf 2 sEROK. {1,2,3,4)



2.

BIRf:U - V; f(x)ICDWLWT, ACU%
EZ2BDo
A C FLf(A)] ZIFAE &K,




2.

BIRf:U - V; f(X)ICDWT, ACUZERD,
A€ fTf(A)] ZEEEAE &K
[EEBA] EE(CRN : ASB © Vx[x € A > x € B]

SV ZRNEDIIAT(EvZE &> TRIEBE (bD
B) x e ALIRELTAEAZEL,

xEALARETBRE, f(x) € f(A). TDEZ
BDEELD I A] ={x|f (x) € f(A)}

KD xeffA)]. DTAC ]
O




&3,

B UV, f(x)ICDWT, BSV&EEX
fIf ' (B)] € BZatBHE Ko




&3,

BI&Rf: U V; f(x)[CDWLWT, BSVEERD
fIf~Y(B)] € BZiBAE K.
[ZIEBA] EEICERN : ACB o Vx[x €A > x €

S ERmEDEAT(dve & DRBEE (b
DIE) x e ALIRELTABZEL,
yefIfT'B)EIRETDE, x€f1(B)
MDf(x) = yEiBmIc TxMMFETD. CDETE,
€ f~Y(B)IADTf(x) EB. kDT, yE€EB.

[T BB =




3. BEROE/K

Def 4.

UV, f(x) &g Ve W,gx)CHU,
h:U - W;h(x) = g(f(x))

ZEkEBHh=gof &EFI,




s 1

U={ab,c}V={012,W={pqt&d
Do
CDLE,

f:U=Vif(a) =1,f(b) =2,f(c) =0

g:VeW;g0)=pg)=pg2)=q
THdD. BB Bh = go fDF) =KD,




#lE 1
U={abc},V=1{012,W=1{pq) &
CDHEE,
frUpV;fla)=1,f(b) =2,f(c)=0

g: Ve W;g0)=pg)=pg2)=q
Thd, BB h=gof DFZEKEDXK

FE:(@eN=y9(f@)=9g1)=p




8 1
U={ab,c}V={012,W={pq} &9
CDHEE,
frUmVif(a)=1,f(b)=2,f(c)=0
g:VeW;g(0)=pg)=pg2)=q
Thd, BEBR h=gof DFZKEHXK

FE:(@eN=y9(f@)=9g1)=p
(go D) =g(fb))=9g) =q




s 1

U={ab,c},V={012,W={pq} &£F
_DOEE,
f:UpV;f(@=1f(b)=2/f()=0
g:VeW;g(0)=p,g(1) =pg2) =q
THhd. BEEBR h=gof DFZEKSDHK
EE : (go @) =g(f(a)=9(1) =p

(gof)b) =g(fb)) =g(2) =q
(g°f))=g(f(©) =90 =p




2

NN, x-x+1,
g:N- R; x » 2x — 3,

DEE, BkEBg o KD K,




{51752
[N N;, x-x+1,
g: N R; x » 2x — 3,
DEE, BkEBg o KD K,

— i
J_—/_\

_ (gofHx) =g(f(x)) = glx+1)
=2(x+1)—-3=2x—-1

> T
gofi: N>R, x—>2x—1 .




83

R R x-x+1,
g N R; x > 2x — 3,

DEE, BEBS o gZKD K,




83

[ ReR x—»x+1,
g: N R; x » 2x — 3,
DEE, AiREERS o gZKD K,

— A i~
J_—/_\

C(Feg)® = f(g() = F(2x - 3)
= (2x—3)+1=2x—2

E> T
fog: NP R, x—>2x—2 .
gofNHR,XI—)ZX—].C‘:(igrd:




HllEE3 D

[N N;, x-x+1,
g:NH- N; x » 2x — 3,

DEE, BEES o gZKD Ko




HllEE3 DA

NN, x-x+1,
g: N N; x > 2x — 3,
DESE, AEERS o gZxKD K,

Ir=

gl IBEHRTIIIRVDTEHRIRL
x=10D&E, g(x) = —1TNTELY,




e84

X,
W -
g:Ve-W,h:

V,

e d

f:u

% SRR
Jof=ho(gof)
(heog

-y

oy




{5284
UV, g VeWhWesX,

DEE, (hog)of =ho(gof)ZaLHA

[EIEAA]

EIREEVx € UNBNTVWDIEFEES(C

DA, v& & D CRBELNE U TIRD,

x e UET Do

((hog) o)) = (hog)(F()) = h(g(f(x
(G NE)=(ho(geHNE) M




4. 5K

Def 5
UV HEEHEDOES,
fFLv e Uz  fOFEBEHEMN,




s 1

U=1{aDb,c}V =1{0,1,2}
f:U»V;a»2,b0,c-1D&
=, BFEHRZKRD K




I8 1
U=1{aDb,c}V =1{0,1,2}

U V;am 2
~V; , b= 0
= WEGERD L. 6 1es

[

D%\"]

f—l:V .
> U;0>b,1mc 2P a




el 2

iR R f(x) =explx) =y
D BERZ KD K,




el 2

iR R f(x) =explx) =y
D BERZ KD K,

(B

fTHRY » R () = In(y)




83

BEFESE&idu: U » U;idu(x) =
x OWERidu~ 1%KL,




83

BEFESE&idu: U » U;idu(x) =
x DIFEE&idu— 1=K K,

[E15]




e84

iUV HWEERDESE,
flofIXIEDKDIIRBEHN?




e84

iUV HWEERDESE,
floflEIEDKIDIREHFN?
[[ElE]

f= o f =idu(x)




xE&H

BREJRER
CILE T
SROEM
W EAR

CRCECHES

e




it

\\I'I'I' Ve
A
AY
Iy
=11
O
Ff-lm
/A




[oeE 1
fiU-V, A, A, CUDEE,
UM ZsEBHE K.

A € A; = f(Ay) € f(4y).




[oeE2
fiUw-V, B,B, CVDESE,
UM ZsEBHE K.

B; € B, = f~'(By) € f'(By).




o] 253
ffU»VEGgVHWETDS.
LU 7Z5EAE K.

(1) fEGHEERRSI(Eg - FEERITHD.
2) fEGHERRS(Eg o« FEEFTHD.




e 2E 4

U ={a},V =1{a, b}
f:UsVEg Ve UZf(a)=ag(a) =
a,g(b) =a &I D,

CDEE, gofLfoglIZENENIE
EE/RETRDN?




